o= A2

olJ
6K

=

ERUEF RS

<
]

7leF

KeX
=

0.175

4

o | <

©)

875
1000

@

16
17

@



® 0.45

@ 0.7

® 0.56

0| o

[a\ e



@ B ® N @ R ®Y

O C



HAL2.

s

2 IAM A

o|

13+4




e T Aldts vt=A o A2 o=



6. 44.7+69 5 HSIA Q.



2101 ZoA] Sheto] B8 21 g 1§L

H20L 8 AFgstaEUT Be 28

aa: L



g As [ Rl BE 22 L7 Sojzidh 158
oA LEA L.

@b 0.863 x| |=8.63

@[ |x5.27 =527

@ 0.026 x| |=0.26
® 1 @ 10 ® 100 @ 1000  ® 0.001



@ 7t 1=c
@ Zr=vrc
® Z+tc=o

@ ZF 1L
® Zrrcs=



10.

@ ZFrce 37]

® 7t caie 3]

® Al Z+e] Z2719] 9




219 LES TE S g ASE ol AU

i

|

LT)=6cm, (Z 7LT)=50° (Z4 1£1L)=130°
AL)=4cm, (M LT)=5cm, (M 7E)=6cm
TT)=10cm, (ZF - T1T)=120°, (ZF LT 7)=45°
AL)="7cm, (A LT)="7cm, (Z 7LT)=90°

_IL.): SCHI, (% L_E): 8CHI, (% _IE): S cm



L ~--30cm--" T

cm?



13. YxAls sHAL.
40.6 + 28



17
20

9
10

@

® 0.625

11
16

O 0.7



15. 7hs 250m, Al 540m ) HAPZFE BF] B-E Ho]7h 2ha ) B
9 Hj g7k

B o






17.
77k
D 0.827 x 512 = 423.424

® 0.827 x 512 = 4.23424

® 827 x0.0512 = 42.3424

827 x 512 = 423424 & o|§

asEe

o

3ted,

]
=t

[%ﬂ

A
2

Py
1A
i

rlo

2~
T

@ 8270 x0.512 = 4234.24

@ 827 x5.12 = 4234.24



18. 176x248 = 43648 & &
T2AQ.

@D 176 x 0.248 = 43.648
® 176 x 24.8 = 4364.8

® 1.76 x 24.8 = 43.648

@ 0.176 x 248 = 43.648

@ 17.6 x 248 = 4.3648

tlo



19. AERL 2 M= 7|28 2AL.

A 1.6%x42x%x5 O 42x63x8

© 25x3.7x6

o e
o e

o e



20. of® 4] 57302 Folob ¥ S ARkl 5,732 FolFIh
sREA ARG G R ARG T B uiRlA) T

B e i



21.

2 A EPe BT A
2 A

=]

i1

ol
o

)



22,

22 Bk 0.2 sfok g7 (2
L 29| ¢ Eof HrEA] RS AA|sfjoF )

@ ;i(m @ ;km ©) %km

@ 1=km

2
12k
7 © 17km



23. oW 42 312 Lhro] & 2 BEste] 2302 UrglE Y ol 27
o3 L 2|7} 130] wgieh. uhA] AL AL wle] -2 e dstol
4 S AR T2,

5 L
=%



24. 2 =39 Yol7l 8.86ha & W], AE =29 Zo]
oA L.




25.

U 297} 22 a5 1ok
lad] A= 2 kg dU7P?

&l

o] TA= 952t U}, o] Huk




